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iz'uif=kdk lksMfo.;kiwohZ o`Qi;k [kkyhy lwpuk dkGthiwoZd okpk %

(1)	 ;k iz'uif=kosQr nksu foHkkx vkgsr- R;kiSdh foHkkx I eè;s r`rh; Hkk"kk fo"k;klkBh 1 rs 25 o foHkkx II eè;s 	
cqf¼eÙkk pkp.kh fo"k;klkBh 26 rs 75 vls ,owQ.k 75 iz'u vkgsr- loZ iz'u lksMfo.ks vko';d vkgs-

(2)	 izR;sd iz'uklkBh 2 xq.k vkgsr-

(3)	 iz'uif=kdk lksMfo.;klkBh ,owQ.k 90 fefuVkapk dkyko/h fnyk tkbZy-

(4)	 mRrjs uksanfo.;klkBh Lora=k mRrjif=kdk fnysyh vkgs- izR;sd iz'uozQekadkleksj pkj i;kZ;klkBh ozQekxr orqZGs fnysyh 
vkgsr- R;krhy vpwd mRrjkpk i;kZ; ozQekad vlysys orqZG iq<hy mnkgj.kkr nk[kfoY;kizek.ks jaxok-

	 mnk- iz'u ozQ- 6 P;k cjkscj mRrjkpk i;kZ; ozQ- 2 vlsy] rj rks iq<hyizek.ks uksanokok-

	 iz'u ozQ- 6 	 	 	 	    

(5)	 [kkyhyizek.ks uksanfoysyh mRrjs xzkgÔ /j.;kr ;s.kkj ukghr- vls mRrj uksanfoY;kl R;k iz'ukl ^'kwU;* xq.k fnys tkrhy-

	 		 	 	 	 	     

(6)	 i;kZ;kph mRrjs uksanforkuk IkQDr dkGÔk fdaok fuGÔk jaxkP;k ckWyisupkp okij djkok- isfUlyus uksanfoysyh mRrjs xzkgÔ 
/j.;kr ;s.kkj ukghr-

(7)	 ,dnk uksanfoysyh mRrjs iqUgk cnyrk ;s.kkj ukghr-

(8)	 izR;sd iz'uklkBh ,dkis{kk vf/d orqZGkr uksanfoysyh mRrjs] [kkMk[kksM d:u uksanfoysyh mRrjs xzká /j.;kr ;s.kkj ukghr-

(9)	 iz'uif=kosQr izR;sd ikukoj [kkyh o 'ksoVP;k ikukoj dPps dke dj.;klkBh eksdGh tkxk vkgs] rsFksp dPps dke 
djkos-

(10)	 ijh{ksl e;kZfnr osG vlY;kus ,[kknÔk iz'ukps mRrj rqEgkyk ;sr ulY;kl iq<hy iz'u lksMok- 'ksoVh osG f'kYyd 
jkfgY;kl mjysY;k iz'ukalkBh iqUgk iz;Ru djk-

(11)	 ,[kknÔk iz'ukr =kqVh@pwd vk<GY;kl R;kckcr i;Zos{kd fdaok ijh{kk osaQnzlapkyd ;kaP;kdMs fopkj.kk d: u;s-

(12)	 iz'ukrhy =kqVh@pwd@vk{ksikckcrps fuosnu 'kkGsus fdaok ikydkauh xVf'k{k.kkf/dkjh fdaok f'k{k.kkf/dkjh ;kaP;kdMs ys[kh 
Lo:ikr u ikBork lacaf/r 'kkGsP;k ykWxhu e/wu vkWuykbZu i¼rhusp ikBokos-

(13)	 =kqVh@pwd@vk{ksikckcrps fuosnu vkWuykbZu i¼rhus ikBfo.;kph eqnr ijh{kk ifj"knsP;k laosQrLFkGkoj varfje (rkRiqjrh) 
mRrjlwph izfln~/ >kY;kiklwu 10 (ngk) fnolkai;Zar jkghy- 

(14)	 eqnz.knks"k fdaok vU; dkj.kkaeqGs iz'u pqdhpk vlY;kps vk<GY;kl rK lferhP;k vfHkizk;kuqlkj rks jn~n osQyk tkbZy-

(15)	 eqG ekè;eklkscr baxzth Hkk"ksrhy iz'uif=kdk fnysyh vkgs- ewG ekè;ekrhy lafnX/ iz'ukackcr baxzth iz'u igkosr-

iwoZ mPp izkFkfed f'k";o`Rrh ijh{kk (b;Ùkk 5oh)] isQczqokjh 2018

Alap

osG % 1-30 rs 3-00

,dw.k xq.k % 150

iz'uif=kdk ozQ- II
i`"B %  32

ekè;e % ejkBh
r`rh; Hkk"kk o cqf¼eÙkk pkp.kh

0 1 0 2
cSBd ozQ- 
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foHkkx I
r`rh; Hkk"kk

Instructions for Q. Nos. 1 to 3 : Read the passage carefully and answer the 
following questions.
The horse is a common tame animal. After the cow, buffalo and the goat; it 
is the most useful animal. A horse is used for riding, in hunting. It draws our 
carts. It is very faithful.

	 1.	 Select the correct option.
		  The horse is most ____________ animal.
	 (1)	 useless	 (2)	 harmful	 (3)	careless	 (4)	useful

	 2.	 Choose the animal which is not mentioned in the given passage.
	 (1)	 cow	 (2)	 bullock	 (3)	buffalo	 (4)	goat

	 3.	 Select the correct alternative.
		  A horse is not used for __________
	 (1)	 riding	 (2)	drawing carts
	 (3)	 nothing	 (4)	hunting

	 4.	 Select the mismatched pair.
	 (1)	 actor – tractor	 (2)	cricket – sachet
	 (3)	 tower – power	 (4)	plastic – elastic

	 5.	 Observe the picture carefully and select the proper motto.

	 (1)	 We love books	 (2)	Protect all animals
	 (3)	 Health is wealth	 (4)	Protect all plants
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	 6.	 Arrange the numbers properly and make the meaningful word.
a r e f t v i u o
1 2 3 4 5 6 7 8 9

	 (1)	 41893762	 (2)	 416982753	 (3)	213457698	 (4)	541628739

	 7.	 The sign  indicates that one should _______.

	 (1)	 go straight	 (2)	 turn left	 (3)	up ward	 (4)	turn right

	 8.	 Select the correct alternative.
		  We should cut our nails ___________.
	 (1)	 daily	 (2)	 early	 (3)	carelessly	 (4)	regularly

	 9.	 Choose the correct alternative.

		

Type of Plants

climbershrub ? cactus

	 (1)	 bud	 (2)	 root	 (3)	stem	 (4)	herb

	10.	 Choose the correct option for making a request.
		  My friend Arnav forgot his eraser and wants to borrow it__________.
	 (1) 	I brought your eraser.	 (2)	Please, give me your eraser.
	 (3)	 Can I give my eraser to you?	 (4)	Find my eraser.

	11.	 Complete the grid by choosing proper set of alphabets.
c
r

s t r i h
w r

a
n

a g l e

	 (1)	 a, i, g	 (2)	 p, k, l	 (3)	o, k, e	 (4)	o, c, e
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	12.	 Choose the correct option for the given word.

		  shape

	 (1) 	aroma	 (2)	 rough	 (3)	brick	 (4)	vapour

	13.	 Select the correct punctuation mark that mentioned in the given sentence.
				    Well done Rahim!
	 (1)	 Exclamation mark	 (2)	Question mark
	 (3)	 Full stop	 (4)	Comma

14	.	 If pigs: squeal : then wolves : ?
	 (1)	 howl	 (2)	 growl	 (3)	squeak	 (4)	croak

	15.	 Observe the picture and choose the correct expression.

	 (1)	 How sad!			   (2)	What a surprise?
	 (3)	 How miserable!			   (4)	What a pity!

16	.	 Fill in the blank by using the correct article.
		  The cow is _______ useful animal.
	 (1)	 an	 (2)	 a	 (3)	the	 (4)	no article.

17.		 Select the correct option.
		  Vedant and his team won the football match.
		  Their friends said, _______________.
	 (1)	 Congratulations!	 (2)	Best of luck!
	 (3)	 Happy birthday!	 (4)	Good bye!

	18.	 Choose the correct sentence showing correct position of a comma (,).
	 (1)	 I ordered potatoes, sugar, eggs, and coffee.
	 (2)	 I ordered, potatoes, sugar, eggs and coffee.
	 (3)	 I ordered potatoes, sugar, eggs and coffee.
	 (4)	 I ordered potatoes sugar eggs, and coffee.



0102 – A P.T.O.5 of 32  

19	.	 Select the correct option.
string ?

sew hem
needle

	 (1)	 toss	 (2)	 spill	 (3)	blink	 (4)	stitch

20	.	 Solve the riddle.
		  It has three blades. 	They go round and round.
		  It gives cool air. What is it?
	 (1)	 a fan 	 (2)	 a lamp	 (3)	a refrigerator	 (4)	an oven

	21.	 Select the correct speech for the given picture.
	 (1)	 What's wrong? 	
	 (2)	 I don't know.
	 (3)	 I can't hear you.	 	
	 (4)	 I don't like it.

22.		 Select the suitable phrase for the given sentence.
		  ______________ there lived a king.
	 (1)	 Long long ago 	 (2)	Many years from now
	 (3)	 Day after tomorrow	 (4)	Just now

23	.	 Choose the correct punctuation mark for the given sentence.
				    Are you ready:
	 (1)	 Full stop	 (2)	 Question mark	 (3)	Comma	 (4)	Apostrophe

	24.	 Fill in the blanks with the correct option.
		  I wash my hands _________ and _________ eating.
	 (1)	 near and close	 (2)	up and down		
	 (3)	 over and under	 (4)	before and after

	25.	 Select the proper alternative.
		  I brush my teeth _________ a day.
	 (1)	 two	 (2)	 twice	 (3)	too	 (4)	first
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

foHkkx II

cqf¼eRrk pkp.kh

	26.			  ^ghp ejkBh ftP;k eq[kkus onyh Kkus'ojh] 

				   f'kockus ryokj ?kklyh ;kp ejkBhojhAA* 

		 ;k dkO;iaDrhr bZ&dkjkar 'kCnkais{kk v&dkjkar 'kCn fdrhus deh vxj tkLr vkgs\

	 (1)	 3 us tkLr	 (2)	2 us deh

	 (3)	 3 us deh	 (4)	2 us tkLr

iz'u 27 rs 31% lkBh lwpukµ xVkr u cl.kkjs in vksG[kk-

27.	 	(1) 17	 (2)	 290	 (3)	 730	 (4)	 71

28.	 (1) 319	 (2)	 232	 (3)	 251	 (4)	 174

29.	 (1) lqjl uhjl	 (2)	 dksMdkSrqd	 (3)	 U;k;fuokMk	 (4)	 uokdksjk

30.	 (1) 	 (2)	

	 (3)	 		  (4)	
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

Section II

Intelligence Test
	26.	 ''Merit consists in doing good to others, sin in doing harm to others.'' In 

this sentence how many words having five letters each are more or less than 
the words having two letters each?

	 (1)	 more by 2	 (2)	 less by 1	 (3)	less by 2	 (4)	more by 1

Instructions for Q. Nos. 27 to 31 : Find out the odd term.

27.		 (1) 17	 (2)	 290	 (3)	 730	 (4)	 71

28.	 (1) 319	 (2)	 232	 (3)	 251	 (4)	 174

29.	 (1) Preliminary	 (2)	 Prehistoric	 (3)	 Prepaid	 (4)	 Preposition

30.	 (1) 	 (2)	

	 (3)	 		  (4)	
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

31.	 (1)	 			   (2)	

	 (3)	 		  (4)	

iz'u 32 o 33% lkBh lwpukµ [kkyhy la[;kekfyosQr iz'ufpUgkP;k tkxh Øekus ;s.kkjh 
la[;k i;kZ;kae/wu fuoMk-

	32.	 114, 85, 62, 43, ? 13

	 (1)	 26	 (2)	 18	 (3)	24	 (4)	21

	33.	 11, 12, 16, 52, ? 92, 96

	 (1)	 77	 (2)	 56	 (3)	61	 (4)	83

	34.	veu vksckekP;k mRrjsl 10 eh- varjkoj mHkk vlwu jfiQdP;k ok;O;sl 20 eh- varjkoj 
mHkk vkgs] rj jfiQd vksckekP;k dks.kR;k fn'ksl mHkk vkgs\

	 (1)	 iwoZ	 (2)	 if'pe	 (3)	nf{k.k	 (4)	mRrj
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

31.	 (1)	 			   (2)	

	 (3)	 		  (4)	

Instructions for Q. Nos. 32 to 33 :Observe the number series and find the correct 
alternative to replace the question mark. (?)

	32.	 114, 85, 62, 43, ? 13
	 (1)	 26	 (2)	 18	 (3)	24	 (4)	21

	33.	 11, 12, 16, 52, ? 92, 96
	 (1)	 77	 (2)	 56	 (3)	61	 (4)	83

	34.	 Aman is standing 10 metres away from Obama facing North and 20 metres 
away from Rafiq facing NORTH-WEST, then in which direction is Rafiq 
standing to Obama?

	 (1)	 East	 (2)	 West	 (3)	North	 (4)	South
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
	35.	[kkyhy i;kZ;krhy vko`QR;kaP;k MkO;k cktwl vkjlk /jY;kl dks.krh vko`Qrh vkj'kkr 

t'khP;k r'kh fnlsy\

	 (1)	 HTH 	 (2)	 YNY

	 (3)	 I Z I 	 (4)	 OSO

	36.	[kkyhy iz'uko`Qrhph vkj'kkrhy izfrek d'kh fnlsy rs i;kZ;h mÙkj vko`QR;kae/wu fuf'pr 
djk-

iz'uko`Qrh 

	 (1)	 	 (2)	 	(3)	 	 (4)	

	37.	vkWxLV efgU;kP;k 6 rkj[ksl 'kqØokj vlsy] rj R;kp efgU;krhy 'ksoVP;k cq/okjh fdrh 

rkjh[k vlsy\

	 (1) 	31	 (2)	25

	 (3)	 27	 (4)	30
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
	35.	 If the mirror is held from the left side of the given figures. which figure will 

look as it is?

	 (1)	 HTH 	 (2)	 YNY

	 (3)	 I Z I 	 (4)	 OSO

	36.	 Find the correct figure from the alternatives which is the mirror image of 
the question figure.

Question Figure 

	 (1)	 	 (2)	 	(3)	 	 (4)	

	37.	 If 6th August was Friday, then in the same month what date it will be on 
last Wednesday?

	 (1) 	31	 (2)	25

	 (3)	 27	 (4)	30
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
iz'u 38 o 39% lkBh lwpukµ [kkyhy iz'uko`Qrhaps ik.;krhy izfrfcac dls fnlsy rs 
i;kZ;h mRrj vko`QR;kae/wu fuf'pr djk-

	38.	iz'uko`Qrh 		

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	39.	iz'uko`Qrh 		

	 (1)	 			   (2)	

	 (3)	 			   (4)	
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
Instructions for Q. Nos. 38 to 39 : Select the correct figure that is water image 
of the question figure from the alternatives.

38.		 Question Figure 

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	39.	 Question Figure 

	 (1)	 			   (2)	

	 (3)	 			   (4)	
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
	40.	js[kkpk nqljk ok<fnol 25 tqyS 2009 jksth 'kfuokjh gksrk] rj frpk tUe dks.kR;k okjh 

>kyk vlkok\

	 (1)	lkseokj	 (2)	eaxGokj

	 (3)	 cq/okj	 (4)	xq:okj

	41.	 [kkyhy v{kjekysr dks.krh v{kjs lekuosGk vkyh vkgsr\

v{kj ekyk% A B C D B  A C A D C D A C D B  C

	 (1)	 A vkf.k D	 (2)	D vkf.k C

	 (3)	 A vkf.k B	 (4)	D vkf.k B

iz'u 42 rs 46% lkBh lwpukµ iq<hy iz'ukr ifgY;k o nqlÚ;k inkpk tlk laca/ vkgs] 
vxnh rlkp laca/ frlÚ;k o pkSF;k inkr vkgs- rks vksG[kwu iz'ufpUgkP;k tkxh ;s.kkjs 
in i;kZ;karwu fuoMk-  

	42.	 xksok % i.kth % % vklke % \

	 (1)	 jkaph	 (2)	dksfgek	 (3)	 fnliwj	 (4)	xaxVksd

	43.	 3564 : 6 : : 7827 : ?

	 (1)	 2	 (2)	 8	 (3)	12	 (4)	10

	44.	 36 : 10 : : 27 : ?

	 (1)	 26	 (2)	 16	 (3)	15	 (4)	24



0102 – A P.T.O.15 of 32  

Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
	40.	 Rekha's second birthday was on Saturday 25th July 2009, then on what 

day was she born?

	 (1)	 Monday			   (2)	Tuesday

	 (3)	 Wednesday			   (4)	Thursday

	41.	In the given alphabetical series which letters are repeated same number of 
times?

 Letters : A  B  C  D  B  A  C  A  D  C  D  A  C  D  B  C

	 (1)	 A and D			   (2)	D and C

	 (3)	 A and B			   (4)	D and B

Instructions for Q. Nos. 42 to 46 : There exists a certain relation between 
first and second term. The same relation exists between third and fourth 
term. Considering this choose the correct alternative to replace the question 
mark (?)

	42.	 Goa : Panaji : : Aassam : ?

	 (1)	 Ranchi	 (2)	 Kohima	 (3)	Dispur	 (4)	Gangtok

	43.	 3564 : 6 : : 7827 : ?

	 (1)	 2	 (2)	 8	 (3)	12	 (4)	10

	44.	 36 : 10 : : 27 : ?

	 (1)	 26	 (2)	 16	 (3)	15	 (4)	24
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

	45.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	46.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	47.	 [kkyhy la[;kekysrhy vadkaP;k LFkkukaph vnykcny osQY;kuarj fdrh ewGla[;k r;kj gksrhy\

		  	la[;k v{kjs % 31, 59, 35, 19, 17, 34, 16, 89, 74

	 (1)	 5	 (2)	 7	 (3)	4	 (4)	6
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

45.		

	 (1)	 	 (2)	 	 (3)	 	 (4)	

46.		

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	47.	 By interchanging  the digits of the numbers in the given number series how 
many Prime numbers will form?

		  Letters:  31, 59, 35, 19, 17, 34, 16, 89, 74

	 (1)	 5	 (2)	 7	 (3)	4	 (4)	6
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

48. v{kjekyk : ABCDE  FGHIJ  KLMNO  PQRST  UVWXY

		 ojhy v{kjekysr 'G' vkf.k 'R' P;k njE;ku tso<h v{kjs vkgsr] R;kP;k 
3
5  iV v{kjs 

[kkyhyiSdh dks.kR;k v{kjkaP;k njE;ku vkgsr\

	 (1)	 'B' vkf.k 'H'	 (2)	 'K' vkf.k 'S'	 (3)	 'H' vkf.k 'O'	 (4)	'D' vkf.k 'H'

iz'u 49 o 50%	 lkBh lwpukµ fnysY;k iz'uko`Qrh'kh rarksrar tqG.kkjh vko`Qrh i;kZ;h 
mRrj vko`QR;kae/wu fuoMk

	49.	 iz'uko`Qrh  	

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	50.	 iz'uko`Qrh 	

	 (1)	 	 (2)	 	 (3)	 	 (4)	
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y

48. Alphabetical Series : ABCDE    FGHIJ    KLMNO    PQRST    UVWXY

		  Find out between which two letters the 
3
5  th of the letters between G and 

R occurs in the above alphabetical series.

	 (1)	 B and H	 (2)	 K and S	 (3)	H and O	 (4)	D and H

Instructions for Q. Nos. 49 to 50 : Find out the figure from the alternatives 
which exactly matches the question figure.

	49.	 Question Figure  

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	50.	 Question Figure  

	 (1)	 	 (2)	 	 (3)	 	 (4)	
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dPP;k dkeklkBh tkxk

v{kjekyk % A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
	51.	[kkyhy pkSdksukr iz'ufpUgkP;k tkxh ;s.kkjh la[;k i;kZ;karwu fuoMk-

2 8 5
7 3 9
3 ? 4

	 (1)	 1	 (2)	 0	 (3)	6	 (4)	10

	iz'u 52 o 53%	 lkBh lwpukµ [kkyhy osu&vko`Qrhps fujh{k.k d:u R;koj vk/kfjr 
iz'ukaph mRrjs i;kZ;karwu fuoMk-

	52.	iQDr f=kdks.k] iQDr yacorqZG vkf.k iQDr "kV~dksu ;kae/hy vadkaph csjht fdrh\

	 (1)	 16	 (2)	 23	 (3)	15	 (4)	27

	53.	rhugh vko`QR;kaeè;s lkekbZd vl.kkjk vad dks.krk\

	 (1)	 4	 (2)	 5	 (3)	9	 (4)	3

	54.	 ,dk lkaosQfrd Hkk"ksr '5' yk '4', EgVys'3' yk '7', EgVys '4' yk '2', EgVys] rj R;kp 

lkaosQfrd Hkk"ksrµ

		   4 + 3 × 5 = ? 
	 (1)	 19	 (2)	 36	 (3)	30	 (4)	60
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Space for Rough Work

Alphabets :  A B C D E    F G H I J    K L M N O    P Q R S T    U V W X Y
	51.	 See the number arrangement and find the number that will replace the 

question mark from the alternatives.

2 8 5
7 3 9
3 ? 4

	 (1)	 1	 (2)	 0	 (3)	6	 (4)	10

	Instructions for Q. Nos. 52 to 53 : Observe the given Venn diagram and answer 
the questions based on that by selecting the correct alternative.

	52.	 What is the total of the numbers given in the triangle, oval and hexagon 
only?

	 (1)	 16	 (2)	 23	 (3)	15	 (4)	27

	53.	 Which number is common in the three figures?
	 (1)	 4	 (2)	 5	 (3)	9	 (4)	3

	54.	 In a code language '5' is called '4', '3' is called '7', '4' is called '2', then in 
the same language 4 + 3 × 5 = ? (how much)

	 (1)	 19	 (2)	 36	 (3)	30	 (4)	60
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	55.	 ,dk lkaosQfrd Hkk"ksr  Eg.kts ÷ 7 vlwu

		  14   = 10 
	      3   = 13

		  rj 42   = fdrh\
	 (1)	 4	 (2)	 9	 (3)	6	 (4)	5

	iz'u 56 rs 60: lkBh lwpukµ [kkyhy iz'ukaP;k lq:okrhyk rhu ins fnyh vkgsr] R;kaps 
dkgh oSf'k"VÔ vkgs] R;keqGs R;kapk ,d xV r;kj gksrks- ;k xVkr cl.kkjs in i;kZ;karwu 
fuf'pr djk-

	56.	 esanw] iqQIiqQls] ân; % 

	 (1)	thHk	 (2)	 gkr	 (3)	;o`Qr	 (4)	ik;

	57.	 343, 27, 125 :

	 (1)	 216	 (2)	 261	 (3)	49	 (4)	1

	58.	 8525, 7612, 9372 : 

	 (1)	 5824	 (2)	 6083	 (3)	3701	 (4)	9824

	59.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	
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	55.	 In a code language  means ÷ 7 
		  like wise   14   = 10  
				          3   = 13
		  Then 42   = how much?
	 (1)	 4	 (2)	 9	 (3)	6	 (4)	5

Instructions for Q. Nos. 56 to 60 : In each of the following questions three 
words are given with some common relation, so their group is formed. Select 
the word from the alternatives given which has the same common feature of 
the given group.

	56.	 Brain, Lungs, Heart, ____________

	 (1)	 tongue	 (2)	 hand	 (3)	liver	 (4)	leg

	57.	 343, 27, 125,__________

	 (1)	 216	 (2)	 261	 (3)	49	 (4)	1

	58.	 8525, 7612, 9372, _________

	 (1)	 5824	 (2)	 6083	 (3)	3701	 (4)	9824

	59.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	
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	60.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	61.	 [kkyhy lkj.khps fujh{k.k d:u R;koj vk/kfjr iz'ukps mRrj i;kZ;karwu fuoMk-

v{kjs A B C H I O P R
fpUgs ∆  + × < ≠ =

		  'POOR' ;k 'kCnkpk fo:n~/kFkhZ 'kCn dlk fygky\

	 (1)	 ≠ < < =		  	 (2)	= ×  +

	 (3)	 ∠ ≠ ∆ 		  	 (4)	= ×  +

	62.	 iz'ufpUgkP;k tkxh ;s.kkjh la[;k i;kZ;karwu fuoMk-

		

2

5
32

8

4

3
30

7

9

1
34

6

3

?
24

5

	 (1)	 2	 (2)	 5	 (3)	4	 (4)	3
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	60.	

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	61.	 In the following table letters are replaced by symbols.

Letters A B C H I O P R
Symbols ∆  + × < ≠ =

		  Using above symbols, how will opposite of 'POOR' be written?

	 (1)	 ≠ < < =	 (2)	= ×  +

	 (3)	 ∠ ≠ ∆ 	 (4)	= ×  +

	62.	 Observe the arrangement of numbers. Find the correct alternative to replace 
the question mark (?)

		

2

5
32

8

4

3
30

7

9

1
34

6

3

?
24

5

	 (1)	 2	 (2)	 5	 (3)	4	 (4)	3
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	63.	 [kkyhy vko`QR;kaeè;s fof'k"V izdkjpk Øe vkgs- rks vksG[kwu iz'ufpUgkP;k tkxh dks.krh 

vko`Qrh ;sbZy rs 'kks/k-

				  

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	64.	 gRrhyk ok?k EgVys] ok?kkyk llk EgVys] l'kk;kyk ¯lg EgVys] ¯lgkyk vLoy EgVys] rj 

vkiyk jk"Vªh; izk.kh dks.kkyk Eg.kkos\

	 (1)	 ok?k	 (2)	llk	 (3)	gRrh	 (4)	¯lg

	65.	 [kkyhy fpUgkaP;k ekfyosQr iz'ufpUgkP;k tkxh fpUgkapk dks.krk lewg ;sbZy\

		

	 (1)	 	 (2)	

	 (3)	 	 (4)	

	66.	 [kkyhy la[;kekfyosQrhy pqdhps in vksG[kk-

		  11, 27, 51, 83, 102, 171

	 (1)	 51	 (2)	 27	 (3)	171	 (4)	102
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	63.	 There is a typical order in the given figures observe them and select the 

corrct alternative to replace the question mark (?)

			 

	 (1)	 	 (2)	 	 (3)	 	 (4)	

	64.	 If elephant is called tiger, tiger is called rabbit, rabbit is called lion, and lion 
is called bear, then who will be called our national animal?

	 (1)	 tiger	 (2)	 rabbit	 (3)	elephant	 (4)	lion

	65.	 Observe the given series and find out which symbols will replace the question 
mark (?)

		

	 (1)	 	 (2)	

	 (3)	 	 (4)	

	66.	 In the given number series find out the odd term.

		  11, 27, 51, 83, 102, 171

	 (1)	 51	 (2)	 27	 (3)	171	 (4)	102
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	67.	 ,dk lkaosQfrd Hkk"ksr BAT = 278, ANT = 276, NET = 765, vls fyfgrkr] rj R;kp 

lkaosQfrd Hkk"ksr 'BEAN' gk 'kCn dlk fygky\ (v{kjs o fpUg ;kapk Øe lkj[kkp 

vlrksp vls ukgh-)
	 (1)	 8572	 (2)	 8526	 (3)	7685	 (4)	8356

	68.	 [kkyhyiSdh dks.kkph o`Qrh v;ksX; vkgs] rs i;kZ;karwu fuf'pr djk
	 (1)	vfnrh fuekZY;kiklwu oaQiksLV [kr r;kj djrs-
	 (2)	 'kohZu usgeh cktkjkrwu oLrw IyWfLVd fi'kO;kae/wup vk.krks-
	 (3)	:Dlkuk lkekftd dk;kZr lfØ; lgHkkx ?ksrs-
	 (4)	 iyd iznw"k.kfojks/h tkfgjkr djrs-

	69.	 eqykps vktps o; vkbZP;k vktP;k o;kP;k 
1
2  iVhis{kk 4 us deh vlwu eko'khP;k vktP;k 

o;kP;k 13  iVhis{kk 2 us tkLr vkgs- tj vkbZps vktps o; 42 o"ksZ vlY;kl eko'khps nksu 

o"kkZiwohZps o; fdrh o"ksZ vlsy\
	 (1)	 43	 (2)	 45	 (3)	47	 (4)	40

	70.	 [kkyhy vko`Qrhr ,owQ.k f=kdks.k fdrh vkgsr\

	 (1)	 9	 (2)	 13	 (3)	15	 (4)	12

	71.	 ikp t.kkaP;k /ko.;kP;k 'k;Zrhr tkWuP;k iq<s vgen gksrk- vgen o lehjP;k njE;ku 

iQDr xkSre vlwu tkWu o vgenP;k njE;ku gjHktu gksrk] rj eè;Hkkxh dks.k gksrk\
	 (1)	tkWu	 (2)	lehj	 (3)	xkSre	 (4)	vgen
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	67.	 In a code language BAT = 278, ANT = 276, NET = 765, then in the same 

code how 'BEAN' is written? (It is not necessary that the order of the letters 
and number is same.)

	 (1)	 8572	 (2)	 8526	 (3)	7685	 (4)	8356

	68.	 From the given statements whose activity is incorrect. Choose the correct 
alternative.

	 (1)	Aditi prepares compost manure from the dried flowers and leaves.
	 (2)	 Sharvin always brings things from the market in plastic bags.
	 (3)	 Rukhsana actively participates in the social activities.
	 (4)	 Palak promotes antipollution advertisement.

	69.	 A son's present age is 4 less than 1
2

 of the mother's present age and 2 more 

than 
1
3 rd of the aunt's present age. If the present age of his mother is 42 

years then what was the age of his aunt two years ago?

	 (1)	 43	 (2)	 45	 (3)	47	 (4)	40

	70.	 How may triangles are there in the given figure?

	 (1)	 9
	 (2)	 13
	 (3)	 15
	 (4)	 12                        

	71.	 In a running race of 5 students, Ahmed was ahead of John. Gautam was 
between Ahmed and Sameer. Harbhajan was between John and Ahmed. 
who was at the centre?

	 (1)	 John	 (2)	 Sameer	 (3)	Gautam	 (4)	Ahmed
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	72.	 [kkyhy vko`Qrhr n'kZfoY;kizek.ks leku vkdkjkP;k ?kuko`Qrh BksdG;kaph ekaM.kh d:u ,d 

izfro`Qrh r;kj osQyh_ rj fryk ,owQ.k fdrh i`"Bs vlrhy\

	 (1)	 12	 (2)	 8	 (3)	10	 (4)	11

	73.	 ,dk 1-5 fdeh ykachP;k jLR;kP;k dMsus nqriQkZ 60 eh- varjkoj ,d fotspk [kkac] ;k 

izek.ks fotsps [kkac ykoY;kl ,owQ.k fdrh [kkac ykxrhy\
	 (1)	 25	 (2)	 26	 (3)	50	 (4)	52

	74.	 [kkyhy vko`Qrhr pkSdksukaph la[;k fdrh\

		
	 (1)	 5	 (2)	 4	 (3)	7	 (4)	6

	75.	 f'k{kd oxkZr ulrkuk oxkZrhy nksu eqykaps HkkaM.k lq: >kys_ rj rqEgh oxZizeq[k Eg.kwu 

izFke dks.krh o`Qrh djky\
	 (1)	 rs nks?ks dls HkkaMrkr rs ikgr jkghu-
	 (2)	 HkkaM.kkpk fo"k; oxZf'k{kdkaP;k dkukoj ?kkysu-
	 (3)	 nks?kkaph letwr ?kkywu HkkaM.k lksMfo.;kpk iz;Ru djsu-
	 (4)	 R;k nks?kkapk fu"ks/ djsu-
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	72.	 The clues of same dimension are arranged according to the given figure 

and a new figure is formed. How many faces will be there of such figure?

	 (1)	 12	 (2)	 8	 (3)	10	 (4)	11

	73.	 If the electric poles are erected at 60m distance on 1.5 km long road on both 
the sides, how many poles will be erected?

	 (1)	 25	 (2)	 26	 (3)	50	 (4)	52

	74.	 What is the number of quadrilaterals in the adjacent figure?

	 (1)	 5	 (2)	 4	 (3)	7	 (4)	6

	75.	 The teacher is not in the class and two students enter into a quarrel. What 
will you do as a monitor?

	 (1)	You will see how they fight.
	 (2)	 Inform the subject of fight to the class teacher.
	 (3)	 You will convince them and try to sort out the issue.
	 (4)	 You will prohibit both of them.
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